ON BOUNDS FOR LOGARITHMIC NON-SYMMETRIC WEIGHTED DIVERGENCE MEASURES

R. P. Singh* and Sapna Nagar**

*Research Advisor & Former Reader Head, Dept. of Maths, LajpatRai (PG) College Sahibabad, Ghaziabad-201005 (India) **Department of Mathematics, M.B. (P.G.) College Dadri, GautamBudh Nagar, India

ABSTRACT

In the present communication, we have classified the classical divergence measures into logarithmic, non-logarithmic, symmetric and non-symmetric categories. Here we have considered a sequence of bounds for logarithmic-non-symmetric weighted divergence measures.

Keywords: Logarithmic-non-symmetric weighted Kullback-Leibler measure, Relative J-divergence, Relative Jensen-Shannon, Arithmetic-Geometric divergence measure: AMS Classification: 94A17 : 62B10

1.1. INTRODUCTION

Divergence measures have played a vital role to test reliability of the information, statement or the system. To minimize or maximize the same depends upon the goal or strategy of the experimenter, Recently Ruchi and Singh [3] has applied different divergence measures for profit maximization in share market. The same study has been extended to decision making process in case of world universities ranking problems. To correlate the different parameters for ranking problem, divergence measures have been tested.

Recently, Taneja [4] has made a lot of contribution to the studies of different types of divergence measures, specially symmetric and non-symmetric. Classical and some new divergence measures have been used for relationship among them in terms of inequalities.

Authors in one communication, have classified the classical divergence measures into logarithmic and nonlogarithmic, symmetric and non-symmetric divergence measures. Convexity property has been features, exploring calculus and Csiszar's [1] f-divergence. Now in this paper, we consider bounds among logarithmic-non-symmetric weighted divergence measures in the next section.

SECTION 2

(a) Let us have different logarithmic-non-symmetric weighted divergence measures:

(i)
$$LN_{K}(P || Q; W) = \sum_{i=1}^{n} w_{i} p_{i} \log \frac{p_{i}}{q_{i}},$$
 (2.1)

(ii)
$$LN_D(P \parallel Q; W) = \sum_{i=1}^n w_i(p_i - q_i) \log\left(\frac{p_i + q_i}{2q_i}\right)$$
 (2.2)

(2.3)

(iii)
$$LN_F(P || Q; W) = \sum_{i=1}^n w_i p_i \log\left(\frac{2p_i}{p_i + q_i}\right)$$
 and

(iv)
$$LN_G(P \parallel Q; W) = \sum_{i=1}^n w_i \left(\frac{p_i + q_i}{2}\right) \log\left(\frac{p_i + q_i}{2p_i}\right)$$
 (2.4)

(b) The second type of logarithmic weighted symmetric divergence are:

(i)
$$LS_J(P || Q; W) = \sum_{i=1}^n w_i(p_i - q_i) \log \frac{p_i}{q_i}$$
 (2.5)

(ii)
$$LS_{I}(P \parallel Q; W) = \frac{1}{2} \left[\sum_{i=1}^{n} w_{i} p_{i} \log \left(\frac{2p_{i}}{p_{i} + q_{i}} \right) + \sum_{i=1}^{n} w_{i} q_{i} \log \left(\frac{2q_{i}}{p_{i} + q_{i}} \right) \right]$$
 (2.6)

and

(iii)
$$LS_T(P || Q; W) = \sum_{i=1}^n w_i \left(\frac{p_i + q_i}{2}\right) \log\left(\frac{p_i + q_i}{2\sqrt{p_i q_i}}\right)$$
 (2.7)

SECTION 3

CSISZAR'S F-DIVERGENCE AND TANEJA'S [2] EXTENSION

Let $f: (0, \infty) \rightarrow R$ be a convexed function, the f-divergence measure due to Csiszar[1] is given by

$$C_{f}(P \parallel Q) = \sum_{i=1}^{n} q_{i} f\left(\frac{p_{i}}{q_{i}}\right)$$
(3.1)

where P, Q, $\in \Gamma_n$, and

$$\Gamma_n = \{ P = (p_1, p_2, ..., p_n) : p_i > 0, \sum_{i=-1}^n p_i = 1 \}, n \ge 2.$$
(3.2)

• **Csiszar's Theorem:** Let the function $f : (0, \infty) \to R$ be differentiable convex and normalized, i.e. f(1) = 0, then the f-divergence $(3.1)C_f (P \parallel Q)$ is non-negative and convex in the pair of probability distribution (P, Q) $\in \Gamma_n \times \Gamma_r$.

Dragomir [2] extended (3.1) as:

• **Dragomir's Theorem:** If $f: R_+ \rightarrow Rbe$ a differentiable convex and normalized function i.e. f(1) = 0. Then $0 \le C_f(P \parallel Q) \le E_{C_f}(P \parallel Q)$ (3.3)

where

$$E_{C_f}(P \parallel Q) = \sum_{i=1}^{n} (p_i - q_i) f'\left(\frac{p_i}{q_i}\right)$$

$$\forall P, Q \in \Gamma_n.$$
(3.4)

• **Taneja's Theorem:** Taneja [4] extended Csiszar's f-divergence as follows:

Let $f_1, f_2: I \subset R \rightarrow R$ be two differentiable convex and normalized functions i.e. $f_1(1) = f_2(1) = 0$ and

(i) f_1 and f_2 are twice differentiable in (r, R) : where $0 < r \le p_i/q_i \le 1 \le R < \infty$,

(ii) then there exist the real constants m and M such that m < M and

$$m \le \frac{f_1''(x)}{f_2''(x)} \le M, \quad f_2''(x) > 0, \quad \forall \ x \in (r, R)$$
(3.5)

(3.6)

Then $mC_{f_2}(P || Q) \le C_{f_1}(P || Q) \le MC_{f_2}(P || Q)$

Ruchi and Singh [3] extended Taneja's theorem for weighted distribution.

 $W = (w_1, w_2, ..., w_n), w_i > 0, \forall i, 2, ..., n,$

corresponding to probability distribution and extended the result (3.6) as.

$$mC_{f_2}(P || Q; W) \le C_{f_1}(P || Q; W) \le MC_{f_2}(P || Q; W)$$
(3.7)

On Bounds For Logarithmic Non-Symmetric Weighted Divergence Measures

where $f_1, f_2 : I \in (0, \infty) \subset R_+ \to R$, and $C_{f_1}(P || Q; W) = \sum_{i=1}^n w_i q_i f_i \left(\frac{p_i}{q_i}\right)$.(3.8)

SECTION 4

BOUNDS FOR LOGARITHMIC NON-SYMMETRIC WEIGHTED DIVERGENCE MEASURES

(a) We have the following bounds for $D(P \parallel Q; W)$

$$\frac{r^{2}(r+3)}{(r+1)^{3}}LS_{j}(P || Q;W) \le LN_{D}(P || Q;W) \le \frac{R^{3}(R+3)}{(R+1)^{3}}LS_{J}(P || Q;W)$$

Proof: Setting $p_i = x$, $q_i = 1$ in (2.2), we have the functional form as:

$$f_{LN_D}(x) = (x-1)\log\frac{x+1}{2}, \quad \forall x \in (0,\infty)$$
(4.1)

$$\Rightarrow f'_{LN_D}(x) = \frac{x-1}{x+1} + \log\left(\frac{x+1}{2}\right)$$
(4.2)

$$\Rightarrow \qquad f_{LN_D}''(x) = \frac{(x+3)}{(x+1)^2} \tag{4.3}$$

Also from (2.5), setting $p_i = x$, $q_i = 1$, we have

$$f_{LS_J}(x) = (x-1)\log x, \qquad \forall \ x \in (0, \infty)$$

$$(4.4)$$

$$\Rightarrow \qquad f_{LS_J}'(x) = 1 - \frac{1}{x} + \log x \tag{4.5}$$

$$\Rightarrow \qquad f_{LS_J}''(x) = \frac{x+1}{x^2} \tag{4.6}$$

Now let us define

$$g_{DJ}(x) = \frac{f_{LN_D}''(x)}{f_{LS_J}''(x)} = \frac{x^2(x+3)}{(x+1)^3}, \qquad \forall \ x \in (0, \infty)$$
(4.7)

$$\Rightarrow \qquad g'_{DJ}(x) = \frac{6x}{(x+1)^4} \ge 0, \qquad \forall x \in (0,\infty)$$
(4.8)

From (4.7), we have

$$m = \inf_{x \in (r,R)} g_{DJ}(x) = \frac{r^2(r+3)}{(r+1)^3}$$
(4.9)

and

$$M = \sup_{x \in (r,R)} g_{(DJ)}(x) = \frac{R^2(R+3)}{(R+1)^3}$$
(4.10)

Now using (3.7), together with (4.9) and (4.10), we have

$$\frac{r^{2}(r+3)LS_{J}}{(r+1)^{3}}(P \parallel Q;W) \leq LN_{D}(P \parallel Q;W) \leq \frac{R^{2}(R+3)}{(R+1)^{3}}LS_{J}(P \parallel Q;W)$$
(b)
$$\frac{2r(r+3)LS_{I}}{r+1}(P \parallel Q;W) \leq LN_{D}(P \parallel Q;W) \leq \frac{2R(R+3)}{R+1}LS_{I}(P \parallel Q;W)$$
(4.11)

Proof.Setting $p_i = x$, $q_i = 1$ in (2.6), we have the functional form as:

$$f_{LS_{I}}(x) = \frac{x}{2} \log \frac{2x}{x+1} + \frac{1}{2} \log \left(\frac{2}{x+1}\right) \forall x \in (0, \infty)$$
(4.12)

$$\Rightarrow \quad f'_{LS_I}(x) = \frac{1}{2} \log \frac{2x}{x+1} \tag{4.13}$$

$$\Rightarrow \qquad f_{LS_I}''(x) = \frac{1}{2(x+1)} \tag{4.14}$$

Now we define

$$g_{DI}(x) = \frac{f_{LN_D}'(x)}{f_{LS_J}'(x)}, \quad \forall x \in (0, \infty)$$

$$= \frac{2x(x+3)}{x+1}$$

$$g_{DI}'(x) = \frac{2(x^2+2x+3)}{(x+1)^3} > 0, \qquad \forall x \in (0, \infty).$$
 (4.15)

Also

 \Rightarrow

$$m = \inf_{x \in (r,R)} g_{DI}(x) = \frac{2r(r+3)}{(r+1)}$$
(4.16)

and

$$M = \sup_{x \in (r,R)} g_{DI}(x) = \frac{2R(R+3)}{(R+1)}.$$
(4.17)

Now using (3.7) together with (4.16) and (4.17), we get the required bounds i.e.

$$\frac{2r(r+3)}{(r+1)}I(P \parallel Q;W) \le LN_D(P \parallel Q;W) \le \frac{2R(R+3)}{(R+1)}I(P \parallel Q;W).$$

(c) We have the following bound for $LN_F(P \parallel Q; W)$:

$$0 \le LN_F(P \parallel Q; W) \le \frac{4}{27} LS_J(P \parallel Q; W)$$
(4.18)

Proof. First, we have

$$f_{LN_F}(X) = x \log\left(\frac{2x}{x+1}\right), \quad x \in (0,\infty)$$

$$(4.19)$$

$$\Rightarrow f'_{LN_F}(X) = \log\left(\frac{2x}{x+1}\right) + \frac{1}{x+1}$$
(4.20)

$$\Rightarrow \quad f_{LN_F}''(X) = \frac{1}{x(x+1)^2}. \tag{4.21}$$

And
$$f_{LS_J}(x) = (x-1)\log x, \quad \forall x \in (0, \infty)$$
 (4.22)

$$\Rightarrow \qquad f'_{LS_J}(x) = 1 - \frac{1}{x} + \log x \tag{4.23}$$

and

$$\Rightarrow \quad f_{LS_J}''(x) = \frac{x+1}{x^2}. \tag{4.24}$$

Now we define

$$g_{FJ}(X) = \frac{f_{LN_F}''(X)}{f_{LS_J}''(X)}, \quad \forall x \in (0, \infty) = \frac{x}{(x+1)^3}$$
(4.25)

$$\Rightarrow g'_{FJ}(X) = -\frac{(2x-1)}{(x+1)^4}$$

$$\begin{cases} \ge 0, \quad x \le \frac{1}{2} \\ \le 0, \quad x \ge \frac{1}{2} \end{cases}$$
(4.26a)

From (4.26a), we observe that the function $g_{FJ}(x)$ is increasing in $x \in (0, \frac{1}{2})$ and decreasing in $x \in (1/2; \infty)$. Hence concave and non-symmetric

Also,

$$M = \sup_{x \in (r,R)} g_{FJ}(x)$$

= $g_{FJ}\left(\frac{1}{2}\right)$
= $\frac{4}{27}$ (4.27)

Now using (3.7) together with (4.27), we get the required bound.

(d) For $LN_F(P \parallel Q; W)$, we have the following bounds

$$\frac{2}{R+1}LS_{I}(P \parallel Q; W) \le LN_{F}(P \parallel Q; W) \le \frac{2}{r+1}LS_{I}(P \parallel Q; W)$$
(4.28)

Proof.We have

$$f_{LN_F}(X) = x \log \frac{2x}{(x+1)}$$
 (from (4.20))

$$\Rightarrow f_{LN_F}''(X) = \frac{1}{x(x+1)^2} \quad \text{i.e. (4.22)}$$

And

$$f_{LS_{I}}(x) = \frac{x}{2} \log\left(\frac{2x}{x+1}\right) + \log\left(\frac{2}{x+1}\right), \ \forall x \in (0,\infty)$$

$$(4.29)$$

$$\Rightarrow f_{LS_{I}}'(x) = \frac{1}{2} \log \left(\frac{2x}{x+1} \right)$$
(4.30)

and

$$\Rightarrow \qquad f_{LS_{I}}''(x) = \frac{1}{2x(x+1)} \tag{4.31}$$

Now we define

$$g_{FI}(x) = \frac{g_{LN_F}''(x)}{f_{LS_I}''(x)}, \quad \forall x \in (0, \infty)$$

$$=\frac{2}{x+1}\tag{4.32}$$

(4.33)

$$\Rightarrow \qquad g'_{FI}(x) = -\frac{2}{(x+1)^2} < 0, \qquad \forall x \in (0,\infty)$$

Also

$$\Rightarrow \qquad m = \inf_{x \in (r,R)} g_{FI}(x) = \frac{2}{R+1}$$
(4.34)

and

$$M = \sup_{x \in (r,R)} g_{FI}(x) = \frac{2}{r+1}$$
(4.35)

Now using (3.7) together with (4.34) and (4.35), we get the required bounds for $LN_F(P||Q; W)$.

(e)
$$\frac{1}{2(R+1)^2} LS_J(P \parallel Q; W) \le LN_G(P \parallel Q; W) \le \frac{1}{2(r+1)^2} LS_J(P \parallel Q)$$
(4.36)

Proof.We have

$$f_{LN_G}(X) = \frac{(x+1)}{2} \log\left(\frac{x+1}{2x}\right), \quad \forall x \in (0, \infty)$$
 (4.37)

$$\Rightarrow f'_{LN_G}(X) = \frac{1}{2} \left[\log \left(\frac{x+1}{2x} \right) - \frac{1}{x} \right]$$
(4.38)

and

$$\Rightarrow \quad f_{LN_G}''(X) = \frac{1}{2x^2(x+1)} \tag{4.39}$$

We have

$$f_{LS_J}(x) = (x-1)\log x$$
(4.40)

$$\Rightarrow f'_{LS_J}(x) = 1 - \frac{1}{x} + \log x \tag{4.41}$$

$$\Rightarrow \qquad f_{LS_J}''(x) = \frac{x+1}{x^2} \tag{4.42}$$

Now we define

we define

$$g_{GJ}(x) = \frac{f_{LN_G}''(x)}{f_{LS_J}''(x)}, \quad \forall \ x \in (0, \infty)$$

$$= \frac{1}{2(x+1)^2}$$
(4.43)

$$\Rightarrow \qquad g'_{GJ}(x) = -\frac{1}{(x+1)^3} < 0, \qquad \forall \ x \in (0,\infty)$$

$$(4.44)$$

Also

$$m = \inf_{x \in (r,R)} g_{GJ}(x) = \frac{1}{2(R+1)^2}$$
(4.45)

and

On Bounds For Logarithmic Non-Symmetric Weighted Divergence Measures

$$M = \sup_{x \in (r,R)} g_{GJ}(x) = \frac{1}{2(r+1)^2}$$
(4.46)

Now using (3.7) together with (4.45) and (4.46) we get the required bound.

(f) We have the following bound $LN_G(P||Q; W)$ in terms of $LS_I(P || Q; W)$

$$\frac{1}{R}LS_{I}(P || Q; W) \le LN_{G}(P || Q; W) \le \frac{1}{r}LS_{I}(P || Q; W)$$
(4.47)

Proof. We have from (4.40) and (4.32)

$$f_{LN_G}''(x) = \frac{1}{2x^2(x+1)}$$

and

$$f''_{LN_I}(x) = \frac{1}{2x(x+1)}$$

respectively.

We define

$$g_{GI}(x) = \frac{f_{LN_G}''(x)}{f_{LN_I}''(x)}$$

= $\frac{1}{x}$ (4.48)

$$\Rightarrow \qquad g'_{GI}(x) = -\frac{1}{x^2} \tag{4.49}$$

Also

$$m = \inf_{x \in (r,R)} g_{GI}(x) = \frac{1}{R}$$
(4.50)

and

$$M = \sup_{x \in (r,R)} g_{GI}(x) = \frac{1}{r}$$
(4.51)

Using (3.7) together with (4.50) and (4.51), we have the required bound.

(g) We have the following bound for $LN_G(P||Q; W)$ in terms of $LS_T(P||Q; W)$

$$\frac{2}{1+R^2} LS_T(P \parallel Q; W) \le LN_G(P \parallel Q; W) \le \frac{2}{r+1} LS_T(P \parallel Q; W)$$
(4.52)

Proof. We have from (4.39)

$$f_{LN_G}''(x) = \frac{1}{2x^2(x+1)}$$
(4.53)

and from (2.7), setting $p_i = x$, $q_i = 1$, in the functional form

$$f_{LS_T}(x) = \left(\frac{x+1}{2}\right) \log\left(\frac{x+1}{2\sqrt{x}}\right)$$

$$\Rightarrow \quad f'_{LS_T}(x) = \frac{1}{4} \left[1 - \frac{1}{x} + 2\log\left(\frac{x+1}{2\sqrt{x}}\right)\right]$$
(4.54)

R. P. Singh and Sapna Nagar

$$\Rightarrow f_{LS_T}''(x) = \frac{1}{4} \left(\frac{1+x^2}{x^2+x^3} \right) = \frac{1}{4} \frac{1}{x^2} \frac{(1+x^2)}{(1+x)}$$
(4.55)

Let us define

$$g_{GT}(x) = \frac{f_{LN_G}'(x)}{f_{LS_T}'(x)} = \frac{2}{1+x^2}, \quad \forall \ x \in (0, \ \infty)$$
(4.56)

$$\Rightarrow \qquad g'_{GT}(x) = -\frac{4x}{(1+x^2)^2} < 0, \qquad \forall \ x \in (0, \ \infty)$$
(4.57)

Also

$$m = \inf_{x \in (r,R)} g_{GT}(x) = \frac{2}{1+R^2}$$
(4.58)

and

$$M = \sup_{x \in (r,R)} g_{GT}(x) = \frac{2}{1+r^2}$$
(4.59)

Now using (3.7) together with (4.58) and (4.59) we get the required bounds for $LN_G(P||Q; W)$.

REFERENCES

- [1] Csiszar I (1967): "Information type measures of difference of probability Distribution and indirect observation", Studia Math, Hungarica, 2, pp.299-318.
- [2] Dragomir S.S. : "Some Inequalities for the Csiszar's&divergence" Chapter I, Article I, http://rgmia.vu.edu.au Inequalities for Csiszar's f- divergence in information theory- Monograph-/monograph/ csizar.htm.
- [3] Ruchi Nager and Singh R.P. (May, 2013) : Application of Information Theoretic Divergence Measures Forecasting profit maximization in Share market" Published in GSTF, in Vol. 2 No. 1 JMSOR (Singapore).
- [4] Taneja I.J. (2005): "Bounds on Non-Symmetric Divergence Measures in terms of symmetric divergence measures", Ariv: Math. PR/0506 V.256.1, 13 June.
- [5] Ruchi Nager, R.P. Singh & K.N. Arora [2013] "On Bounds for weighted Non Symmetric Divergence Measures of Information Vol 5 (1), pp. 163-174
- [6] Ruchi Nagar, R.P. Singh & K. N. Arora [2011] "Bounds of Non Symrolotice Weighted J.S. AG Divergence Measure & its inequalities among its particular Divergence." Aryabhatta J. of Maths & Info. Vol. 3 (2) pp 247-254.
- [7] Tuli R.K. & Sharma C.S. [2011]. "A characterization of weighted Measure of Fuzzy Entropy.". Aryabhatta J. of Maths & Info. Vol. 3 (2) pp 215-220.